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ohe 1H I 22 AABC oA /B =85°, /C = A
65°, BC =10 ¢ ufj, AB 9] Zo|& 4H o}
AR 2p2]742] Fstedet, (H, sin 65 ° = 0.9063)
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19. B AAel © 3= 7I7& Zol7t 80m Q1 & AZsH C A
Tt Z1FelA AHS A= et & 2ol A I o,
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-->5H



23. ool st AR AOIA 200m Hol A AT W AHRA 5
W7t ol F = Ze = 420 o]}, Sl AHoA E m Eolof UE=A]
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24. o& 183} Zol LA =60°, AB =
5cm , AC = 9cm Q1 AABC ©J|A BC
o] 2ol g Fstole




25. e 13 Zo] 100m ol F 7 C
HA,B A sl Wil 75 C
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@ 100m @ 50V3m
® 100V3m @ 100(V3-1)m
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27. o T2 AABC 7} Qlth AB =
20cm 22l & o, x o] do]=9
D 8V3cm @ 9+3cm
® 10vV3cm @ 11 V3cm
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@ hsind0° — hcos50° = 100

@ hcos40° — hcos50° = 100
® htan50° — htan40° = 100

@ htan50° — hsin40° = 100
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sin 50°  sin40°
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45. o 183 22 AABC 9] WolZl 7vV3em? 9 o, A ©] 37|17
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48. T3 TRIA PO & 919 H40] PB & g4It P — 507,
PA = 8cm, PC = 12cm ¥ ], AABC 2] Wo|E 5tofzt,
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12cm-----
lzcm <7
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